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Filename         = 546−A−4.jdf
Author           = delta
Experiment       = single_pulse_dec
Sample_id        = S#441092
Solvent          = CHLOROFORM−D
Creation_time    = 23−JUL−2009 11:56:19
Revision_time    = 25−SEP−2009 23:24:58
Current_time     = 25−SEP−2009 23:25:41

Comment          = single pulse decouple
Data_format      = 1D COMPLEX
Dim_size         = 26214
Dim_title        = 13C
Dim_units        = [ppm]
Dimensions       = X
Site             = ECX 400P
Spectrometer     = DELTA2_NMR

Field_strength   = 9.2982153[T] (400[MHz
X_acq_duration   = 1.048576[s]
X_domain         = 13C
X_freq           = 99.54517646[MHz]
X_offset         = 100[ppm]
X_points         = 32768
X_prescans       = 4
X_resolution     = 0.95367432[Hz]
X_sweep          = 31.25[kHz]
Irr_domain       = 1H
Irr_freq         = 395.88430144[MHz]
Irr_offset       = 5[ppm]
Clipped          = FALSE
Mod_return       = 1
Scans            = 163
Total_scans      = 163

X_90_width       = 9.5[us]
X_acq_time       = 1.048576[s]
X_angle          = 30[deg]
X_atn            = 4.2[dB]
X_pulse          = 3.16666667[us]
Irr_atn_dec      = 21[dB]
Irr_atn_noe      = 21[dB]
Irr_noise        = WALTZ
Decoupling       = TRUE
Initial_wait     = 1[s]
Noe              = TRUE
Noe_time         = 2[s]
Recvr_gain       = 48
Relaxation_delay = 2[s]
Repetition_time  = 3.048576[s]
Temp_get         = 23.3[dC]
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